10.

Algebra 2 Placement Test

Answer Key

(%7 = 33) +(x2%2) = (x7-3) + (x2+2) -
x4ext=2x4

AB  apiais

B2

ASH-2lg-34-3) _ 236 A_3
EE
1 1 1
83 (2713 273 3 1
[f] ‘[s] T1 2oy
83
25 + 75 =(247)45 =95
X _ xB3-i) _3x-xi _
3+i (3+0(3-1)  o_p
3X-Xi _ 3X-Xi . XB-i)
= r
9-(-1) 10 10
3 301-43)
— = i 7
1443 (1+43)0-43)
_3-3/3 _3-343
1-3 2
5 . 4 _ 5(y)  4@x) _ 5Y+8X
6X 3Y  ex(y) 3v(2x) BXY
5Q RQ‘+3QR-R =50 "R +3QR-R =
5QR+30R —R =5QR+3QR-R=8QR-R
(.0009)(.027) =
(9.0x104)(2.7x1072) =
(9.0x2.7)104x102) =

24.3x10%=2.43x107

If significant digits are taken into account:

2.0 1072 (either answer is correct)

3,700,000  3.7x10°
002  20x107
(3.7x109) = (2.0x1073) =
(3.7+2.0)(105:1073) =
1.85x10°

2.0 107 with significant digits

12.

13.

2X% —9X =35
2X°_9X-35=0

_(-9) +y/ (<9)°— 4(2)(-35)

¥ =
2(2)
9+y81-(-280) _ 9++361 _9+19
3 4 4
9+19 9-19
x=2+13 X =
3 3
28 -10
X=<2 X=—=
4 4
X=7 5
¥ =2
2
1
X=-2—
2
X2+ 4X - 4=-3X
X2 +7X-4=0
R
2
xo =D ey7)-a)a)
2(1)
—7+J49-(-16) _ -7+465
2 2

sketch parabola and line
(see graph on next page)

Y=X242

YoX+2= (X242 =x42
XP-X=0
(x)x-1=0
X=0
Y=X+2= Y=(0)+2
Y =2
solution 1: (0, 2)
X-1=0
X =1
Y=X+2= Y=(1)+2
Y =3

solution 2: (1, 3)



14.

Y=X% 21 L.

E

L

sketch circle and hyperbola
X4 Y221
X —yi=1
2x%2 =2
X2 =1
X = ]
x=1:

Xay2ol= (0Pev2oi
1+Y2=1
Y2=0
Y=0
solution 1: (1, 0)
X=-1:

X2ay2ot= (<) 4y¥2=1
1+Y2=1
Y2=0
Y=0

solution 2: (-1, 0)
X2 y2= 1

=

™| |-

=

NEFE

[

15. 15%x%1,565=.15x51,565=5234.75 off
$1,565-5234.75=5%1,330.25
16. Weight of NaCl=23+35=58

Na 23

o = o = 40 = 40%
C 5 (10) s
17 5°38~ "D T8
10(18) =5D
2018)=D

D =36 dogs

18. JOKm _ .62mi _ (10)(.62 mi) = 6.2 mi

1 1 km

19. D, =R,T,= D, =(55(9)
D,, = 495 mi

Dﬁ. - RATA

. . D. =
(495_3—(45JTA—:=J A= Ou
R, =45

T, =11 hours; arrived at 7:00 PM

20.
~10(D+Q=15) =
100(.10D+.25Q =3.15) =

-10D-10Q =-150
10D+ 25Q= 315

15Q = 165
Q=11 gquarters

D+Q=15= D+(11)=15
D = 4 dimes

21. integers are N, N+ 2,

3(N)+2(N+2)-(N+4)=16
IN+2N+4-N_-4-=16
4N =16

N=4

and M+ 4

*Note that in this line,
the entire quantity
(N+4) is subtracted.
Think of it as
distributing -1 across
the two terms inside
the parentheses.

Integers are 4, 6 and 8.



22. I'l-'IT =10% mixture; I"--'I5 = 60% mixture
~10(M+ Mg =100) = -10M;-10M; =-1,000
100(.10M +.60M = .45(100)) = _10M;+60M; = 4,500

50M, = 3,500
M, =70 Ib

M;+M;=100= M. +(70) =100
M, =30 Ib

23. R+6=2(A+6)
R+6=2A+12
R=2A+6
(A-4)(3)=R-4
3A-12=R-4
3A-8=R= 3A-8=(2A+6)
A =14 years old

R=2A+6= R=2(14)+6
R=28+6
R =34 years old

24. Dp=RyT,

Dp = B+ W) T,
: - D. =26
(26) = (B+(5))(Tp)= 1 P
W=5
26
To= B+5
I:}U - R'UTU
D, = B-WIT,
D, =6
(6)=I(B- [5”(TU} = /U
W=5
6
11J_lza—l_;
26 6
o=Ty= B+5 B—5

26(B-5) =6(B+5)
26B—-130 = 6B+30
20B = 160

E =8 mph



